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Kolkata Police Constable Exam. Practice Set
Answer with Explanation

1. (b) ~!Ýþ !Šéœ “þyÁË›%oyÐ ›)œ“þ ö¢y˜y ç îû*þ™yîû ›%oyîû þ™!îûîöì“Åþ
›£Á¿” !î˜ “%þ‡œ„þ “þyÁË›%oy !‹“þœéôé~îû ²Ì‰þœ˜ Öîû& „þöìîû̃
„þyîû’ ö¢y˜y ç îû*þ™yîû þ™ëÅy® ¢îûîîûy£ ¢îÅ”y þ™yçëûy
x¢%!î•y‹˜„þ £öìëû ëy!FŠéœÐ

2. (c) „þîûy!‰þ x!•öìîŸ˜!Ýþ 26 öíöì„þ 31 ›y‰Åþ– 1931 “þy!îûöì…
x˜%!Ûþ“þ £öìëû!ŠéœÐ ¦þyîûöì“þîû ßþºy•#˜“þy xyöì̈ yœöì̃ îû £z!“þ£yöì¢
„þîûy!‰þ x!•öìîŸöì̃ îû !îöìŸ¡ì =îû&c îûöìëûöìŠé– „þyîû’ ~£z
x!•öìîŸöì̃ £z ö›ï!œ„þ x!•„þyîû ¢‚e«yhsþ ç ‹y“þ#ëû xíÅ÷ì̃ !“þ„þ
„þ›Å¢)!‰þ !î¡ìöìëû =îû&cþ™)’Å ¢›y•y˜¢)e þ™yçëûy ëyëûÐ

3. (c) ‰þyþ™ î,!kþîû šþöìœ îîûöìšþîû †œ˜yBþ £Éy¢ þ™yëû ~î‚ îîûšþ †öìœ
‹œ £öìëû ëyëûÐ ‰þyþ™ £Éyöì¢îû šþöìœ †œ˜yBþ î,!kþ þ™yçëûyîû
‹˜Ä þ™%̃ îûyëû ö¢£z ‹œ îîûöìšþ þ™!îû’“þ £ëû “þy£z ”%!Ýþ xyœy”y
îîûšþ…[þ ö‹yvþüy öœöì† ëyëûÐ

4. (c) !e«!ÞÝþ £œ ›y£zöìÝþy„þ!uÈþëûyîû ö¦þ“þöìîûîû ¦¤þy‹ öë=!œ ö”…öì“þ
÷Ÿœ!Ÿîûyîû ›öì“þy ~î‚ ~=!œ ›y£zöìÝþÆy„þ!uÈþëûyœ ›y!ÝþÆ:
S›y£zöìÝþy„þ!uÈþëûyîû ¢îöì‰þöìëû ö¦þ“þöìîûîû ßþiy˜V !‡öìîû íyöì„þÐ ~£z
!e«!ÞÝþ ›y£zöìÝþÆy„þ!uÈþëûyœ !Gþ!ÍÔîû þ™,öìÛþîû öÇþešþœ î,!kþ „þöìîû
~î‚ ›y£zöìÝþÆy„þ!uÈþëû̃ öì„þ xyîûç „þyëÅ„þîû „þöìîû ö“þyöìœÐ

5. (d) 1902 ¢yöìœ †!àþ“þ £ëû– ~£z „þ!›Ÿöì̃  ¦þyîû“þ#ëû ¢”¢Ä !Šéöìœ˜
=îû&”y¢ îöì̈ Äyþ™y•Äyëû ç ÷¢ëû” ö£yöì¢˜ !îœ@ùÌy!›Ð

6. (b) öœy„þ¢¦þyîû ¢öìîÅyF‰þ ¢”¢Ä ¢‚…Äy 552 ‹˜ £öì“þ þ™yöìîû– ëyîû
›öì•Ä 530 ‹˜ ¢”¢Ä îûy‹Ä öíöì„þ ~î‚  20 ‹˜ ¢”¢Ä
ö„þwŸy!¢“þ xMþéœ öíöì„þ !˜îÅy!‰þ“þ £ëûÐ

7. (b) ¢y¨y„þš%þ ~!Ýþ þ™!Øþ›îDéôéö˜þ™yœ ¢#›yöìhsþ ”y!‹Å!œ‚ ö‹œyîû
!¢Dy!œœy þ™îÅöì“þîû ¢öìîÅyF‰þ Ÿ,DÐ

8. (a) ˜y£zÝþÆy¢ x:y£zvþ òœy!šþ‚ †Äy¢ó ˜yöì› þ™!îû!‰þ“þÐ ~!Ýþ ~„þ!Ýþ
îûy¢yëû!˜„þ öëï†– ëyîû ¢‚öì„þ“þ N2OÐ î’Å£#˜– x”y£Ä ~£z
†Äyöì¢îû {¡ìê !›!ÜT †õþ ç ßþºy” îûöìëûöìŠéÐ

9. (c) 2, 4-D xy†yŠéyîû !Ýþ¢%Äöì“þ íy„þy ö„þy¡ì=!œöì„þ •¹‚¢ „þöìîû þ™%!ÜT
ç ‹œ î£˜ „þöìîû– ëyöì“þ xy†yŠéyîû î,!kþ îÄ£“þ £ëûÐ

10. (a) !Ýþ˜ ç öœöìvþîû ¢‚„þîû •y“%þ !šþvþz‹ “þyîû ÷“þ!îû „þîûöì“þ îÄî£yîû
„þîûy £ëû „þyîû’ ~£z ¢‚„þîû •y“%þîû vþzF‰þ ²Ì!“þöìîûy• Çþ›“þy ~î‚
„þ› †œ˜yBþ îûöìëûöìŠéÐ

11. (b) !˜vþzöìÝþÆy!šþœ ç ›öì̃ y¢y£zÝþ šþÄyöì†y¢y£zöìÝþy!¢¢ þ™kþ!“þöì“þ öîûy†
‹#îy’% •¹‚¢ „þöìîûÐ ~îû ²Ì•y˜ ÷î!ŸÜTÄ=!œ £œéôô SiV îÄy¢
10-12 µm,  SiiV ¢y£zöìÝþÆy²Õy‹› ”y˜yë%_«– SiiiV !˜vþz!„Ïþëûy¢
2-7!Ýþ …[þ !î!ŸÜTÐ

12. (b) ²Ìí› þ™Mþéîy!¡ìÅ„þ# þ™!îû„þÒ˜yîû ¢›ëû¢#›y £œ 1951-56 ¢yœÐ
~£z þ™!îû„þÒ˜yëû ¢îÅy!•„þ =îû&c ö”çëûy £ëû „,þ!¡ìîû çþ™îûÐ
!î!˜öìëûyöì†îû £yîû 5 Ÿ“þy‚Ÿ öíöì„þ 7 Ÿ“þy‚Ÿ „þîûy £ëûÐ ›öìvþœ!Ýþ
!Šéœ £Äyöìîûyvþ övþy›yîû ö@ùÌyí ›öìvþœÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

13. (d) xy„þîîû !‹!‹ëûy „þîû îõþ „þöìîû!Šéöìœ˜ 1564 ¢yöìœÐ
14. (c) £zvþz!îûëûy ¢‚öìÙÕ!¡ì“þ £çëûyîû þ™kþ!“þ!Ýþöì„þ îœy £ëû xîû!˜!í˜

‰þe«Ð ~!Ýþ ë„,þöì“þîû ›öì•Ä ¢Á™§¬ £ëûÐ
15. (b) ›£yîûyöìÜTÉ 1867 ¢yöìœ vþƒ xydyîûy› þ™yu%þîûD ò²ÌyíÅ̃ y ¢›y‹ó

²Ì!“þÛþy „þöìîû!Šéöìœ˜Ð
16. (a) Ýþ›y¢ ›˜öìîûy 1820 ¢yöìœ ›yoyöì‹îû †¦þ˜Åîû !Šéöìœ˜Ð
17. (c) þ™yœöì›y˜y!îû „þþ™y!Ýþ„þy vþy˜ !˜œëû ç š%þ¢š%þ¢#ëû •›˜#îû

¢‚öìëy†ßþiöìœ xî!ßþi“þÐ îû_«öì„þ vþy˜ !˜œëû öíöì„þ š%þ¢š%þ¢#ëû
•›˜#öì“þ ö²Ìîû’ „þîûy !„þlsþ îû_«öì„þ !îþ™îû#“þ þ™öìí öëöì“þ îy•y
ö”çëûy£z £œ ~îû ²Ì•y˜ „þy‹Ð

18. (a) v%þîûyœ%!›öì̃  95 Ÿ“þy‚Ÿ xÄyœ%!›!˜ëûy›– 4 Ÿ“þy‚Ÿ “þy›y– 0.5
Ÿ“þy‚Ÿ ›ÄyDy!˜‹ ç 0.5 Ÿ“þy‚Ÿ ›Äy†öì̃ !Ÿëûy› íyöì„þÐ ~!Ýþ
!î›y˜– ö›yÝþîû†y!vþüîû ˜y˜y x‚Ÿ ç ˜y˜yîû„þ› ëöìsþfîû x‚Ÿ
÷“þ!îûöì“þ îÄî£yîû „þîûy £ëûÐ

19. (a) ”y£z!‰þ@ùÌy› ‹y“þ#ëû vþz”Äy˜ ‹Á¿% ç „þyÙÂ#öìîûîû ×#˜†öìîû
xî!ßþi“þÐ ~!Ýþ ›)œ“þ £yD%œ ¢‚îûÇþöì’îû ‹˜Ä !î…Äy“þÐ

20. (c) !‰þ‚!vþüÐ ö†yœy!þ™ !î²Õöìîîû ‹˜„þ £öìœ˜ ”%öì†ÅŸ þ™ÄyöìÝþœÐ
21. (c) xD†“þ¦þyö ìî þ™,í„þ £ö ìœç „þyëÅ„þîû#¦þyö ìî ~„þ£zîû„þ›

xD=!œöì„þ ¢›î,_#ëû xD îöìœÐ
22. (b) !„þŠ%é !˜!”ÅÜT þ™!îû!ßþi!“þöì“þ ²ÌßþËyöìî „þÄyœ!Ÿëûy›– šþ¢öìšþÝþ ~î‚

x:yöìœÝþ öî!Ÿ ‡˜#¦)þ“þ £öìëû ëyëû ~î‚ ßþ³þ!Ýþ„þ !£öì¢öìî xyœy”y
£öìëû ëyëû ~î‚ ¢‚ë%_« £öìëû !„þvþ!˜öì“þ þ™yíîû ÷“þ!îû „þöìîûÐ

23. (b) £z!¨îûy þ™öìëûrÝþ ¦þyîûöì“þîû ”!Çþ’“þ› !î %̈Ð xy¨y›y˜ ç !˜öì„þyîîû
m#þ™þ™%öìO xî!ßþi“þ !˜öì„þyîîû m#þ™þ™%öìOîû ö@ùÌÝþ !˜öì„þyîîû m#þ™þ™%öìO
£z!¨îûy þ™öìëûrÝþ xî!ßþi“þÐ ~!Ýþîû þ™)öìîÅîû ˜y› !Šéœ !þ™†›Äy!œëû̃
þ™öìëûrÝþÐ 1985 ¢yöìœîû 18 xöìQyîîû £z!¨îûy †y!õþîû ßþ¿îûöì’
~!Ýþîû ˜y› þ™!îûî“Åþ˜ „þöìîû “¤þyîû ˜y›y˜%¢yöìîû îûy…y £ëûÐ

24. (b) ~„þ!Ýþ vþz_œ ”þ™Åöì’îû ¢y›öì̃  ö„þyöì̃ y îlßþ îûy…öìœ îlßþ!Ýþîû
²Ì!“þ!îÁº îlßþîû “%þœ˜yëû Ç%þo £ëûÐ “þy£z ~„þ£z xy„þyöìîûîû ¢›“þœ
”þ™Åöì’îû “%þœ˜yëû vþz_œ ”þ™Åöì’ xöì̃ „þ öî!Ÿ ¢‚…Ä„þ îlßþîû
²Ì!“þ!îÁº ö”…öì“þ þ™yçëûy ëyëû— xíÅyê vþz_œ ”þ™Åöì’îû ”,!ÜTöìÇþe
xöì̃ „þ îöìvþüy £ëûÐ ~„þ£z „þyîûöì’ !þ™Šé˜ öíöì„þ xy¢y ëy˜îy£˜
ö”…yîû ‹˜Ä †y!vþüöì“þ vþz_œ ”þ™Å’ îÄî£yîû „þîûy £ëûÐ

25. (b) „þy!‹îûyˆy ‹y“þ#ëû vþz”Äy˜ ¦þyîûöì“þîû x¢› îûyöì‹Äîû ö†yœy‡yÝþ
ç ̃ †¤yç ö‹œyëû xî!ßþi“þ ~„þ!Ýþ ‹y“þ#ëû vþz”Äy˜Ð !îöìÙ»îû ~„þŸ,D
†[þyöìîûîû ”%£zéôé“,þ“þ#ëûy‚Ÿ ~£z ‹y“þ#ëû xîûöì’Ä îy¢ „þöìîûÐ ~!Ýþ
£zvþzöì̃ ¢öì„þy ßþº#„,þ!“þ²Ìy® ~„þ!Ýþ òçëûyÓÅþ ö£!îûöìÝþ‹ ¢y£zÝþóÐ

26. (d) ö†y”yîîû# ˜”#!Ýþ îöìDyþ™¢y†öìîû þ™!“þ“þ £öìëûöìŠéÐ ¢îîû›“þ#–
˜›Å”y ~î‚ “þy!® xyîûî ¢y†öìîû þ™!“þ“þ £öìëûöìŠéÐ

27. (b) 1912 ¢yöìœîû 23 !vþöì¢Áºîû– „þœ„þy“þyîû þ™!îûîöì“Åþ !”!ÍÔ
¦þyîûöì“þîû îûy‹•y˜# !£öì¢öìî vþzöìmy•öì̃ îû !”öì̃  îöìvþüyœyÝþ œvÅþ



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 11  ›y‰Åþ– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

£y!vÅþOöì„þ £“þÄyîû þ™!îû„þÒ˜y „þöìîû̃  îûy¢!î£yîû# î¢%Ð  “¤þyîû
!˜öì”ÅöìŸ î¢hsþ !îÙ»y¢ œvÅþ £y!vÅþöìOîû çþ™îû öîy›y Šé¤%vþüöìœç
²Ìyöì’ öî¤öì‰þ ëy˜Ð 1914 ¢yöìœ Öîû& £ëû !”!ÍÔ ¡ìvþüësþf ›y›œyÐ

28. (b) 1982 ¢yöìœîû 1 ‹y˜%ëûy!îû EXIM îÄyBþ ßþiy!þ™“þ £öìëû!ŠéœÐ
~£z îÄyöìBþîû ›)œ „þy‹ £œ ÷îöì”!Ÿ„þ îy!’öì‹Ä ¢y£yëÄ !”öìëû
vþzê¢y!£“þ „þîûyÐ Ö•% ¦þyîû“þ ˜ëû “,þ“þ#ëû !îöìÙ»îû x˜Ä ö”Ÿöì„þç
~£z îÄyBþ ÷îöì”!Ÿ„þ îy!’öì‹Ä ¢y£yëÄ „þöìîûÐ

29. (b) 1919 ¢yöìœ ¦þy¢Åy£z ‰%þ!_«öì“þ !œ† xšþ ö˜Ÿ˜öì¢îû ßþºŸy!¢“þ
¢‚ßþiy !£öì¢öìî £zrÝþyîû̃ ÄyŸ˜yœ öœîyîû x†Åy˜y£zöì‹Ÿ˜ (ILO)
²Ì!“þ!Ûþ“þ £ëûÐ 1946 ¢yöìœ ILO îûyÜTÉ¢‚öì‡îû ²Ìí› !îöìŸ¡ì
¢‚ßþiy !£öì¢öìî ßþº#„,þ!“þ þ™yëûÐ

30. (c) !¦þÝþy!›˜ 'A'éôé~îû Ÿyîû#îûî,_#ëû „þy‹=!œ £œéôôé ßþ¬yëû%„þœyîû
„þ›ÅÇþ›“þy ”y˜– x!ßþi ç ”öìhsþîû ßþºy¦þy!î„þ î,!kþ– öþ™Ÿ# †àþ˜
ç „þyëÅ !˜ëûsþf’– cöì„þîû ö„þy›œ“þy îûÇþy „þîûy– ‰þÇ%þîû „þ›ÅÇþ›“þy
îûÇþy „þîûyÐ

31. (a) 1985 ¢yöìœ ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 52“þ› ¢‚öìŸy•˜# x˜%¢yöìîû
”œ“þÄy† !îöìîûy•# xy£z̃  þ™yŸ £ëûÐ ”œ“þÄy† !îöìîûy•# xy£zöì̃ îû
öÇþöìe öœy„þ¢¦þyëû x•ÄÇþ !¢kþyhsþ @ùÌ£’ „þöìîû̃ Ð

32. (c) 31 !vþöì¢Áºîû– 2024 öíöì„þ 13 ‹y˜%ëûy!îû– 2025 ¦þyîû“þ
ç ö˜þ™yöìœîû ö¢˜yîy!£˜#îû ›öì•Ä öëïí ¢y›!îû„þ ›£vþüy ò¢)ëÅ
!„þîû’ó x˜%!Ûþ“þ £öìëû ö†œÐ

33. (a) ¢Á±!“þ ²Ì”_ 2024 ¢yöìœîû ò˜ÄyŸ˜yœ ößþ™yÝÅþ¢ xÄyçëûyvÅþó
éôé~îû òö›‹îû •Äy˜‰¤þy” ö…œîûbó !î¦þyöì† ¦þyîûöì“þîû !î!ŸÜT
”yîyvþY !vþ =öì„þŸ þ™%îûßþ,ñ“þ £öìëûöìŠé˜Ð

34. (d) ¢Á±!“þ ˜Äy¢„þöì›îû !¢£zç !£öì¢öìî !˜ë%_« £öìœ˜ ö‹Äy!“þ
Ÿ›ÅyÐ !“þ!˜ ~£z ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû# !˜!• ¦þy!¢öì̃ óîû
ßþiœy!¦þ!¡ì_« £öìœ˜Ð

35. (d) ¢Á±!“þ £zöì¨yöì̃ !Ÿëûy !îÊ„þöì¢îû þ™)’Å ¢›öìëûîû ¢”¢Ä ö”Ÿ
!£öì¢öìî xhsþ¦%Åþ_« £öìëûöìŠéÐ 2009  ¢yöìœ !îÊ„þ¢ ö†yÛþ#
÷“þ!îû £öìëûöìŠéÐ ~îû î“Åþ›y˜ ¢”¢Ä ö”öìŸîû ¢‚…Äy £œ ”ŸÐ

36. (a) !£!¨ ¦þy¡ìyîû ‹˜!²Ìëû“þy ²Ì‰þyöìîûîû vþzöìjöìŸÄ 10 ‹y˜%ëûy!îû
¢yîûy !îÙ»‹%öìvþü òçëûyÓÅþ !£!¨ övþó þ™y!œ“þ £œÐ

37. (a) ¢Á±!“þ xÄyÝþ!›„þ ~˜y!‹Å „þ!›Ÿöì̃ îû ö‰þëûyîû›Äy˜ !£öì¢öìî
þ™%̃ !˜Åë%_« £öìëûöìŠé˜ x!‹“þ „%þ›yîû ö›y£y!hsþÐ

38. (c) ¢Á±!“þ ²Ìëûy“þ îûy‹yöì†yþ™yœ !‰þ”yÁºîû› ~„þ‹˜ !î!ŸÜT
™îû›y’% !îKþy˜# !Šéöìœ˜Ð !“þ!˜ ”#‡Å!”˜ £zrÝþyîû˜ÄyŸ˜yœ
xÄyÝþ!›„þ ~˜y!‹Å ~öì‹!ªóîû öîyvÅþ xšþ †¦þ˜Åîû !Šéöìœ˜Ð

39. (a) ”,!ÜT£#˜ ²Ì!“þîõþ#öì”îû !ŸÇþyœyöì¦þîû ¢%!î•yöìíÅ öîÊé£zœ
!¢öìÞÝþ›öì„þ „þyöì‹ œy†yöì˜yîû ²Ì‰þyîûy!¦þëyöì˜îû ‹˜Ä
4 ‹y˜%ëûy!îû òçëûyÓÅþ öîÊ£zœ övþó þ™y!œ“þ £œÐ

40. (a) 16éôé19 ‹y˜%ëûy!îû ¦þyîû“þ#ëû ö¢˜yîy!£˜# ç ¦þyîû“þ#ëû !î›y˜
îy!£˜#îû ›öì•Ä öëïí ¢y›!îû„þ ›£vþüy Exercise Devil
Strike x˜%!Ûþ“þ £œÐ

41. (d) ö…öìœyëûyvþü !„þlsþ !ŸÒ#ç ˜˜– vþy_«yîûç ˜˜ = 25Ð

42. (c) a b
x

 £öìœ– (a + b) ÷ 8 = xÐ

²Ìí› !‰þöìe– (35 + 37) ÷ 8 = 72 ÷ 8 = 9Ð

!m“þ#ëû !‰þöìe– (17 + 31) ÷ 8 = 48 ÷ 8 = 6Ð

 “,þ“þ#ëû !‰þöìe– œ%® ¢‚…Äy = (27 + 61) ÷ 8
    = 88 ÷ 8 = 11

43. (c) ¢Á™„Åþ!Ýþ £œ– x2 + 5 : x
 261 = x2 + 5
x2 = 256
 x = 16

44. (b) a b

x

£öìœ– a ç b !”öìëû †!àþ“þ ¢‚…Äyîû ¢öìD a ç b ë%_« „þîûöìœ
x þ™yçëûy ëyëûÐ
²Ìí› !‰þöìe– 49 + 4 + 9 = 62Ð
!m“þ#ëû !‰þöìe– 57 + 5 + 7 = 69Ð
 “,þ“þ#ëû !‰þöìe œ%® ¢‚…Äy = 98 + 9 + 8 = 115Ð

45. (a) N O I D A
5 5 5 5 5

S T N I F
         

“þy£öìœ–

M E E R U T
5 5 5 5 5 5

R J J W Z Y
           

46. (b) 4 9 20 43 90 185 376

×2+1 ×2+2 ×2+3 ×2+4 ×2+5 ×2+6

 !˜öì’Åëû ¢‚…Äy = 185 × 2 + 6 = 376
47. (a) FRINGE

W       (–) H
 I        (–) V

D        C
–1
–1

E         D
–1
–1

L       (–) X
Y        (–) K

F       (–)  Q
 R        (–)  E

I        H–1

N         M
–1
–1

G       (–) D
E        (–) F

48. (c) YACE
8 8A I, E M,   8 8Q Y, S A, 

8 8C K, G O,   8 8U C W , E 
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

49. (d) 4
5  2  4
1  3  6
“þy£öìœ ~£z ›%£)öì“Åþ 6 !îþ™îû#“þ 4 xyöìŠéÐ

50. (b) UHNGYR
N     A

A     N

H     U

U     H

T T
I I




N N
G G




O     N

N     O

R     Y

Y     R
51. (c) Cow  Milk  Curd  Butter Milk  Butter

 Ghee, “þy£öìœéôôôé 4, 2, 1, 3, 6, 5

52. (b) 5 11 19 29 41 55
+6 +8 +10 +12 +14

53. (b) 8 : 30
(1st ˜Áºîû × 3) + 5
(a) 7 : 26 (7 × 3 + 5) = 26
(b) 8 : 30 (8 × 3 + 5)  29
(c) 10 : 35 (10 × 3 + 5) = 35
(d) 13 : 44 (13 × 3 + 5) = 44
“þöìî Ö•%›ye b Šéyvþüy xyîû ¢î þ™kþ!“þ ¢›y˜Ð

54. (a) !îvþüyœ ç „%þ„%þîû ”%!Ýþ !¦þ§¬ “þöìî þ™Öîû xhsþ†Å“þÐ
55. (d) þ™!e„þyîû ›%…Ä„þ“Åþy ¢Á™y”„þ ~î‚ ̃ yÝþöì„þîû ›%…Ä„þ“Åþy !˜öì”ÅŸ„þÐ
56. (a) M A N = 0

13 + 1 – 14 = 0
S I N = 14
19 + 9 – 14 = 14

 H O T = 3
8 + 15 – 20 = 3

57. (d)

–1 –1 –1

AZ BY CX DW

+1 +1 +1

58. (a) 4 5 13 23 49 95 193

×2–3 ×2+3 ×2–3 ×2+3 ×2–3 ×2+3
 !˜öì’Åëû ¢‚…Äy = 95 × 2 + 3 = 193

59. (a)

3 !„þ!› 3 !„þ!›

2 !„þ!›

î“Åþ›yöì̃  !“þ!˜ ~…˜ þ™!Øþ› !”öì„þ £¤yÝþöìŠé˜Ð

60. (c) N

K

L

M
 M ¢îyîû ˜#öì‰þ îûöìëûöìŠéÐ

61. (c)    21 19 10 8
11

2
  



   45 15 38 8
7

2
  



   51 11 2 42
9

2
  



62. (b) 124   :   3   ::   246   :   4

12÷4 24÷6
63. (d) BESTéôé~ 4!Ýþ letter xyöìŠé = 42 = 16

CATéôé~ 3!Ýþ letter xyöìŠé = 32 = 9
ACTORéôé~ 5!Ýþ letter xyöìŠé = 52 = 25

64. (b)
–1 –2 –1

H G E D

+1 +2 +1
W X Z A

–1 –2 –1
Q P N M

–1 –2 –1
J I G F

65. (d) ~öìÇþöìe 64 = 125éôé~îû xBþ !“þ˜!Ýþîû ¢›!ÜTîû î†ÅÐ
 ? = 324ôé~îû xBþ !“þ˜!Ýþîû ¢›!ÜTîû î†Å = 81

66. (d) C

E

B+ A

D

67. (a) K AV

VA K

E R I

I R E

M Y S

S Y M

O R E

E R O
68. (b) ¢%›öì̃ îû ‹§Ã 28 ö¢öì²WzÁºîû 1999, 1999 ¢yöìœîû 15

xy†ÞÝþ !Šéœ ö¢y›îyîûÐ
ö›yÝþ !”˜ = 15 xy†ÞÝþ öíöì„þ 28 ö¢öì²WzÁºîû = 28 + 16
= 44 !”˜ = 6 ¢®y£ 2 !”˜Ð
¢%›öì̃ îû ‹§Ã!”˜ = ö¢y›îyîû + 2 !”˜ = î%•îyîû

69. (b) T
8

R
3

E
4

K
5

F
2

A
0

M
9

I
1

L
7

Y
5
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

R = 3, E = 4, A = 0, L = 7, I = 1, T = 8,
Y = 5

70. (c) 22 ̃ y›y!Bþ“þ x‚Ÿ!Ýþ Ö•%›ye î,_ ç xyëû“þöìÇþöìeîû xhsþ†Å“þÐ
71. (b) M1 = 9, T1 = 10, D1 = 24, W1 = 1 ~î‚ M2 = 12, T2

= 12, D2 = x S•îûy ëy„þV ~î‚ W2 = 1

1 1 1 2 2 2

1 2

M D T M D T
W W

 

îy– 
9 10 24 12 12 x

1 1
   



îy– 
9 10 24x 15

12 12
 

 


 „þy‹!Ýþ öŸ¡ì £öìî 15 !”öì̃ Ð
72. (b) A : B = 125 : 100 = 5 : 4

= 5 × 7 : 4 × 7 = 35 : 28
B : C = 70 : 100 = 7 : 10
= 7 × 4 : 10 × 4 = 28 : 40
 A : B : C = 35 : 28 : 40
 A ç C ~îû x‚Ÿ#”y!îûöìcîû þ™yíÅ„þÄ

40 35 4120
(35 28 40)


 

 

5 4120 200
103

   Ýþy„þy

73. (c) !ßþ™!îûÝþ 78 7 4213
   !œÝþyîû

‹œ 78 6 3613
   !œÝþyîû

›öì̃  „þ!îû– x !œÝþyîû ‹œ ö›Ÿyöì“þ £öìî

²ÌÙÀy˜%¢yöìîû– 42 6
36 x 7


îy– 216 + 6x = 294
 6x = 78

78x 136  !œÝþyîû

13 !œÝþyîû ‹œ ö›Ÿyöì“þ £öìîÐ

74. (b) ¢›ëû œy†öìî 36 45
20

36 45


 


‡^ùÝþyÐ

75. (a) •îûy ëy„þ– e«ëû›)œÄ x Ýþy„þy
“þy£öìœ 600 – x = x – 400
îy– 2x = 1000   x = 500 Ýþy„þy
 oîÄ!Ýþîû e«ëû›)œÄ = 500 Ýþy„þy

76. (a) 3% = 24
24100% 100 8003    Ýþy„þy

 öîû!vþç!Ýþîû e«ëû›)œÄ 800 Ýþy„þy
77. (d) öÇþešþöìœîû þ™!îûî“Åþ˜ £öìî

  10 410 – 4 – 100


2 28 36 – 5 %5 5 5  

 
35 %
5 öÇþešþœ î,!kþ þ™yöìîÐ

78. (d) öÝþÆöì̃ îû ÷”‡ÅÄ + ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄ = 220 + 180 = 400
!›ÝþyîûÐ
öÝþÆöì̃ îû †!“þöìî† = 72 !„þ!›/‡^ùÝþy

572
18

   !›/ö¢ = 20 !›/ö¢

²Ìöìëûy‹˜#ëû ¢›ëû 
400 20
20

   ö¢öì„þuþÐ

79. (a) •!îû– î“Åþ›yöì˜ !þ™“þyîû îëû¢ x îŠéîû ~î‚ þ™%öìeîû îëû¢
y îŠéîûÐ

x 10 7(y 10)   
x 7y 60.......(i)   

2(x 2) 5(y 2)  
2x 5y 6.......(ii)  

(i) 2 — (ii) 1   „þöìîû þ™yçëûy ëyëû–
9y 126    îy– y 14

x 60 7 14 38     
!þ™“þyîû îëû¢ 38 îŠéîû– þ™%öìeîû îëû¢ 14 îŠéîûÐ

80. (b) 80000 Ýþy„þyîû ö›yÝþ îy!¡ìÅ„þ ¢%” = 5600 Ýþy„þyÐ

îy!¡ìÅ„þ ¢%öì”îû £yîû = 
5600 100 7%
80000 1





6% £yöìîû ‹›y Ýþy„þy : 8% £yöìîû ‹›y Ýþy„þy = 1 : 1
²Ìí› ¢%öì”îû £yîû 6% !m“þ#ëû ¢%öì”îû £yîû 8%

 ›•Ä¢%öì”îû £yîû 7% 

1% 1%
8% £yöìîû Ýþy„þy ‹›y îûyöì…˜

180000 40000
1 1

  


 Ýþy„þy

81. (d) ¢%›öì̃ îû ~„þy „þy‹!Ýþ „þîûöì“þ ¢›ëû œy†öìî
15 24 40
24 15


 


 !”˜

82. (d)
97 99 99 9799 99 99
99 99

 
  

= 99 × (100 – 1) + 97 = 9900 – 99 + 97
= 9900 – 2 = 9898

83. (a) •!îû– oîÄ!Ýþîû e«ëû›)œÄ = x

A ~îû !îe«ëû›)œÄ 105x
100

 

B ~îû !îe«ëû›)œÄ 
105 95x
100 100

  
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 ²ÌÙÀy˜%¢yöìîû– 105 95x 23.94
100 100

  

              23.94 100 100x 24
105 95
 

 


84. (b) •!îû– ›y!¢„þ xyöìëûîû x˜%þ™yöì“þîû ¢îûœîûy!Ÿ x ~î‚ îÄöìëûîû
x˜%þ™yöì“þîû ¢îûœîûy!Ÿ y
 ²ÌÙÀy˜%¢yöìîû A ~îû ¢Mþéëû– 5x – 4y = 500

 
5
4

x – y = 125 ....(i)

B ~îû ¢Mþéëû– 6x – 5y = 500

 
6
5 x – y = 100 ....(ii)

(i) – (ii) xy›îûy þ™y£z–
5 6x x 25
4 5

 


x 25 x 500
20

  

 A ~îû xyëû = 5 × 500 = 2500 Ýþy„þy
85. (c) A öíöì„þ B ~îû ”)îûc 8 !„þ!›

•!îû– ö˜ï„þyîû †!“þöìî† V !„þ!›/‡^ùÝþy
8 8 203

V 1 V 1 60
 

 
 S~„þîyîû ößþËyöì“þîû x˜%„)þöìœ xyîû

~„þîyîû ößþËyöì“þîû ²Ì!“þ„)þöìœ ëyëûV

2

8(V 1) 8(V 1) 10
V 1 3

  
 



2

16V 10
V 1 3

 


 24V = 5V2 – 5
5V2 – 24V – 5 = 0
5V2 – 25V + V – 5 = 0
5V(V – 5)  + 1(V – 5) = 0
(V – 5)(5V + 1) = 0
 V = 5 !„þ!›/‡^ùÝþy

86. (c) 40% ˜Áºîû = 265 + 55 = 320

 100% ˜Áºîû = 
320
40 × 100 = 800

87. (b) •!îû– xy¢œ = x
¢%”éôéxy¢œ = 2x
¢›ëû = 4
 ¢%” = (2x – x) = x Ýþy„þy

I 100r
pt




x 100 25%
4 x


 


 Ýþy„þy ¢%öì”›%öìœ 8 =’ £öìî

7x 100t 28
x 25


  


 28 îŠéöìîû ¢%öì”›)öìœ 8 =’ £öìîÐ
88. (b)  18 24

4 2

20

4 : 2 = 2 : 1
89. (a) •!îû– ¢!àþ„þ vþz_öìîûîû ¢‚…Äy = x

x.3 – (30 – x).2 = 30
 3x – 60 + 2x = 30
 5x = 90
 x = 18
 ö¢ 18!Ýþ ²ÌöìÙÀîû vþz_îû ¢!àþ„þ !”öìëû!ŠéœÐ

90. (d) ›)œ•˜ = 
1 1 1: :
6 5 4

 = 10 : 12 : 15

¢›ëû = 1 : 1 : 1
œ¦þÄy‚Ÿ = 10 : 12 :15
²ÌÙÀy˜%¢yöìîû– (10 + 12 + 15) = 37 ~„þ„þ = 3700 Ýþy„þy
 1 ~„þ„þ = 100 Ýþy„þy
 šþöì“þ›yîû œy¦þ = (15 × 100) = 1500 Ýþy„þy

91. (c) ¢›öìëûîû x˜%þ™y“þ 6 : 4 = 3 : 2
öîöì†îû x˜%þ™y“þ = 2 : 3
”)îûc = 2 × 6 = 12 !„þ!›

¢›ëû 
12 22

(3 2) 5
 



2
5 ‡^ùÝþy 

2 60
5

  !›!˜Ýþ = 24 !›!˜Ýþ

 “þyîûy 9.24 A.M. ¢›öìëû !›!œ“þ £öìîÐ

92. (d) prt 2500 8 4I 800
100 100

 
   Ýþy„þy

93. (b)
2r 81x 1000 8.1

100 10000
     
 

94. (c) x : y = 3 : 4
5x 2y 15 8 7
7x 2y 21 8 29

 
 

 
95. (b) •!îû– 100 !œÝþyîû ”%• xyöìŠéÐ

20% œy¦þ „þîûöìœ 120 !œÝþyîû !î!e« „þîûöì“þ £öìîÐ
xíÅyê 20 !œÝþyîû ‹œ ö›Ÿyöì“þ £öìîÐ
‹œ ç ”%öì•îû x˜%þ™y“þ = 20 : 100 = 1 : 5

96. (a) 12 × 210 – 12 × 205
= 2520 – 2460 = 60

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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97. (c) ößþËyöì“þîû x˜%„)þöìœ 8 !›!˜öìÝþ ëyëû = 4.8 !„þöìœy!›Ýþyîû

ößþËyöì“þîû x˜%„)þöìœ 60 !›!˜öìÝþ ëyëû 
48 60
8 10





    = 36 !„þöìœy!›Ýþyîû
x˜%„)þöìœîû öî† = Sö˜ï„þyîû öî† + ößþËyöì“þîû öî†V
 36 = 34 + ößþËyöì“þîû öî†
 ößþËyöì“þîû öî† = 36 – 34 = 2 !„þöìœy!›Ýþyîû/‡^ùÝþy

98. (c)
1 11 1

3 6 4 3 62 44, 2, 3, 5 4 ,2 ,3 ,5

44, 26, 32, 53 = 256, 64, 9, 125

öŠéyÝþ!Ýþ £œ = 6 3

99. (b) 8, 12, 16, 24 ç 36 !”öìëû ¢Á™)’Åîû*öìþ™ !î¦þy!‹“þ Ç%þo“þ›
¢‚…Äy £œéôôôé
8, 12, 16, 24 ç 36 ~îû œ¢y=
= 2 × 2 × 2 × 3 × 2 × 3 = 144

100.(a) 25 ‹˜ Šéyöìeîû ö›yÝþ vþzF‰þ“þy = (25 × 1.4) = 35 !›Ýþyîû
5 ‹˜ Šéye ‰þöìœ ö†öìœ †vþü vþzF‰þ“þy £ëû = (1.4 + 0.15)
= 1.55 !›Ýþyîû
î“Åþ›yöì̃  (25 – 5) = 20 ‹˜ Šéyöìeîû ö›yÝþ vþzF‰þ“þy £ëû
= (20 × 1.55) = 31 !›Ýþyîû
 (25 – 20) = 5 ‹˜ Šéyöìeîû ö›yÝþ vþzF‰þ“þy
= (35 – 31) = 4 !›Ýþyîû

 5 ‹˜ Šéyöìeîû †vþü vþzF‰þ“þy 
4 0.8
5

   !›Ýþyîû

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


